BFIUUIIA 2007.11. 11 RO EN A5
(18R IZENE
A 12| 3|8|&|IEX
1| Bpfti¥EE (GUFBRAL) 2-6(6-0| 1 | 1| 2 |MAES
2 | MTHER (Z1)—) 6-2 6-0l 2 | 0| 1 6
3| hftE (BHTZATHTI-) [0-6/0-6 of2] 3 MAIES
B 5178 |B|& 6
AR =1
5| R ER (FHFILF) 0-6[5-6| 0 | 2
-6 FREHEHE Stk
C 517 |8 |B|&
7 | EFERIE (BAO) 6-0 6-3| 2| 0 0
Bye Bye |FE4T 4 IE MREE
8| mBE & (BEHT-ATHTI-)|6-5/3-6 111] 2 6
D 9 (10| 11| B | & |IEfL
9 | WA (W-ATC) 8-4| 1| 0| 1 |i&WEA
-+6 SRR T=ATAT DEF 7(3)
11 /MIEEF (oD 4-8 ol 1| 2 0
E 12113 |14 | B | & | NEfLL b=-310% = p
12| #HLE i (/7) 6-4[4-6| 1 | 1| 1 |H#HE & 6
13| BN 15 (AHTZATHTI-) |4-6 6-4| 11| 1 ’W‘
14| RIFEHE (FEHD) 6-4|4-6 1| 1 FL 9-77-5
F 15|16 (17 | B | & | IBEfL
15| EiEHE— (EEHE) 6-3|6-1] 2 | 0| 1 |=tEE—
16| E T2 (RTyia) 3-6 56 0| 2| 3 2
17 |&FHLEX /7) 1-6[6-5 1] 1] 2 =15
G 18|19 (20| B | & |IEf 3
18| ARIE EHTZATHITI-) 6-2|0-6[ 1 | 1| 2 6
19| SHER (R a) 2-6 06/ 0| 2| 3 |&1E ;
20| =5 & (With) 6-0(6-0 210 1 2
H 21|22 |23 | B | & |IBf BHmAREZ
21 | FF— (BAO) 6-2|3-6| 1| 1| 2 |BE B
22 (BFHE AER (FHFIF) 2-6 26| 0| 2| 3 1
23| By [& (EEH) 6-3|6-2 210 1 6
I 241 25| 26 | B | & |IBf fmAREZ
24 | AREH (BEHTIATHITI) 6-2|0-6[ 1 | 1| 2 6
25| PRUfEZR (Z1)—) 2-6 06l 0| 2| 3 |[faKkiEz
26| fAiRtEZ (W-ATC) 6-0|6-1 2 (0| 1




TFUTILR 2007. 11. 11

D A~ AN+ T

~ T T TETE TR 18HIZEH
1| WHXE (HAHR) 6-2[6-1] 2 | 0| 1
2 | ERREETF /7) 2-6 6-2| 1 | 1| 2 [LLAXEE
3| Eksxr EHTZATHITIS)|1-6[2-6 0| 2] 3 (5)
B 41 5|6 | B8 |IEACI
4 | BHHHF (TUFEA L) 6-1/6-5| 2 | 0| 1
5 | IBARIEE (71)—) 1-6 65| 1| 1| 2 |BHHEF 2
6 | IRARETE (AHTZATHITI-)|5-6|5-6 0[2] 3 0
4
C 718|988 [IEf INKRTEET
7| IMNEEFR (With) 6-5(0-6[ 1 [ 1| 2
8 | KBMBF (/T)L) 5-6 26 0| 2| 3 6
9 | IMRIBEF (BHTZATHTI-)|6-0]6-2 2| 0| 1 |'PMBEF
B
1=
D 10 1| | 8 | IEfE
10| =EEMA (With) 80l 1|0 1
Bye Bye |ZZBRFIL
11| BHAEI  (FZARIITHIN) |0-8 0f1] 2 6
RN
E 12113 [ 14| B | & |IEfHL 6
12| IHRIEFE  (BHTATHTI) 6-5| o | 1| 1] 2
13| EIHEBF (TZARIITHINX) |5-6 46l 0| 2| 3 0
14| ERXF (/xT)L) 6-0| 6-4 20| 1 |EEXF
F 15116 [ 17| B | & |IEHL
15| MEESEF (/7) 6-0[2-6] 1| 1| 2
16| BHEFFF (2')—) 0-6 06/ 0| 2| 3 1
17| WHEF  FkTU—2) [6-2]6-0 2 10| 1 |EEF

ot




